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Note : There are two sections, namely, Section -A and
Section - B in this paper. All questions in section-A
are compulsory. Answer any three questions from

section - B.

SECTION-A

Note : Questions numbered 1 to 10 are multiple choice
objective type questions. Indicate the correct

choice in answer sheet.

1. ISDN stands for . 2
(a) Integrated Services Digital Network
(b) Indian Service Digital Network
c) Integrated Synchronous Digital Network

(
(d) Intelligent Service Digital Network

2. Spaces can be included in the field name when 2
__is used.
(a) dBase IlT+ (b)  Ms-Access

(c) Both (a) and (b) (d) None of the above
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While using Ms-Excel, a workbook can have
worksheets by default.
(a) 8 by 2 () 1 (d) 16

In cell A1, Tuesday is typed, and the full handle
is dragged through B1. The result is that

(a) Wednesday appears in Bl
(b) Tuesday appears in Bl
(c) Monday appears in Bl
(d) Sunday appears in Bl

(a) Slides (b) Handouts
(c) Outlines (d)  All of the above

is used to align left and right margins.
(a) CTRL+M (b) CTRL+N
(c) CTRL+] (d)  Shift+]

To reduce the colour Blue, numbers between
in the Blue Box has to be chosen.
(a) 0 to 250 (b) 1 to 250

(c) 1 to 255 (d) 0 to 255

A CD - ROM can store of data.
(a) 500 MB (b)y 400 MB

(c) 680 MB (d) 2MB
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9.  CIM stands for ; 2
(a) Component Integrated Manufacturing
(b) Computer Integrated Manufacturing
(c) Computer Integrated Migration
(d) Computer Internal Manufacturing

10. Computers are used to help engineers design better 2
products using
(a) CAE
(by CAD
(c) Both (a) and (b)
(d) None of the above

11. What are Mobile Offices ? How do they differ 10
from Telecommuting Centres ?

12. Write a short note on EDI standards. 10
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SECTION-B

Answer any three questions from the following :

13. What is a Multimedia Computer ? List the

hardware that is needed for it.

14. Write a short note on Computer applications in

Banking services.
15. Explain AMDAHL's Law.

16. Explain Gateway Packet Switching System.
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1. ISDN %1 314 # - 2

(@) Integrated Services Digital Network
(b) Indian Service Digital Network
c)

(

(d) Intelligent Service Digital Network

Integrated Synchronous Digital Network

2. Thiee A H i T wifHe € Sehar € S 2
W TR <irn € |
(a) dBase I+ (b) Ms-Access
(c) M (a) ¥R (b) (d) et H <hiE T
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(a) CTRL+M (b) CTRL+N
(c) CTRL+] (d)  Shift+]
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(a) 0¥ 250 (b) 17¥ 250
(c) 1255 (d) 0¥ 255
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11,

12,
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(a) 500 MB (b) 400 MB
(c) 680 MB (d) 2MB
CIM &1 314 ¥

(a) Component Integrated Manufacturing

(b) Computer Integrated Manufacturing

(
(c) Computer Integrated Migration
(d) Computer Internal Manufacturing
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